MATH 1330 Review for Test -2

When: 02,/ 28 -0 2'/ 2+t
Where: CASA Testing Center (222 Garrison Gym)
Time: 50 minutes
Number of questions: 14
10 Multiple Choice Questions (total of 60 points)
4 Free Response Questions (total of 40 points)

What is covered: Chapters 1, 2 and 8.

Do not forget to reserve a seat for Test — 2.

Do not be late for your test. Plan to be at the testing center 10-15 minutes before your
scheduled time. If you miss your reserved seat, log in to your CASA account and try to

reschedule; you can do this if there are any available seats.

Remember the make-up policy: NO MAKE-UPS! If you miss your test, you will get a
zero. When you take the final, it will replace ONE missed test.

Take Practice Test — 2! 10% of your best score will be added to your test grade.

Do not forget to go to CASA for fingerprint/picture process before your test date.

Do not forget to bring your COUGAR ID when you go to the testing center.

For the free response part, please show your work neatly. Do not skip steps.

When you take the test, you will see a score in your CASA grade sheet right away. That

score is for the multiple choice part only. So, it is out of 60 points. The grade for the
Free Response Part will be posted later, after the papers are graded.
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d) Horizontal Asymptote: %: \
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e) Does the graph intersect thejA? If so, what is the x-coordinate of the intersection?
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Example 2: f(x) = 2x—4 , él |
XT=3x-4 — — ) X34

(Y Get 1) - X+l

a) Domain: x+4 | X+ -L = |(-ee,-) U (~1,4) U4 ,00)

b) Vertical Asymptote(s): [ X= =L

c)Hole:l x=4 | = Q-(ir) =_1_ _ Js-_- =) (4,-51.)& ?osi%{oa

d) Horizontal Asymptote: 8.—,0

—_ Ne So, wWtoon == N In'{‘effﬂp'l‘

® l
fw-5- =

O
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Example 3: f(x) =10x? —7x+4

Calculate f (x—1) = 0(x-1) “700) 4 =00 (We2e+1) TEXAT Y
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What is the y-intercept of f(x-1)?
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Domainof  fog? dom .goé = L““’: -%3 U (-—%—,0@)

Example 4: Given f (x) =

and g(x)=4x-1
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Example 5: f(x) = —x? +4x+5.

a) Find the difference quotient fix+h)= 109
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Example 6: Find the inverse of the function, if possible.
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Example 7: Find the linear function f(x) given that (1,4) is on the graph of f and (2,5)

is on the graph of f .
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Example 8: Find the coordinates of the center and the radius for the given circle:

x2+6x+21+y2—8y=0 2 - T
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Example 9: Given a—i’—(szl. <> Vorizoa ta & - 3 %)
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a) What are the asymptotes?
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b) What are the coordinates of the vertices and foci?
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Written Question #1: Find the point(s) of intersection for the following equations:

{4xz+7yz=11 — )L Wray'=n 5 25¥=258
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Written Question #2: Graph the polynomial P(x) = —2(x—1)2 (x— 4}(x+2)2
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Leading term: — 2},('9

End Behavior: !\
Zeros (x-intercepts):
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p=-¢6
4p=-20
p:-S

Written Question #3: Graph the parabola y* =24 S

Orientation: Ylor\zovite op~ \LU‘
Vertex: (9,0)

P= -6
directrix: X= — (" L) =0

focus (focal point): (-6, )

end points of the focal chord:

(-6,12), (- 6,12)

(Exercise!) Graph the parabola x? =-20y.

Orientation: q&'{' \ La,L olowhwwcl T

Vertex: (0, 0)

p=—5 4t

directrix: 3 =-(-9)=9 1

focus (focal point): ko I-‘J')

End points of the focal chord:

('|0|'5) ) (MJ] '5)




Written Question #4: Graph the function f(x)=+x+4 —2 using transformations.

Domain: ¥+ z0 = L4 ) %ru-qu La—_\fi
X 7-4 T

Range: E’Z, o@)

Transformations of the key point: N > a—— \ES

o Wit 4 unit I&J;-l‘, 2 wnits dows = = 5 < 5z
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Is this function one-to-one?
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(Exercise!) Graph the function f(x) =|x—5/+2 using transformations.
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